MAT 125-Final Exam (part 2) -FALL 2017
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1. Find and draw f if f'(2) = 5 — 4z — 2% and f(0) = 2.

"EINDY merms we NEED THE  ALTIDERIVATIV
50 R(xy= Sx WH X +C ) anp swcE F()=2, =2,

-e \@Lx)': 5% ‘7-><L+'§Xa+2!

-x) | so crte PTS AT

g LX) o™ Rlo)=2,

L

o D0z S-4x-x" = (s x= =%, x=-|

-?,C,x)<D |E X<=5 eoa (F X>+|

RID >0 IF =5 X< x|

S £ 1s DECREASING oA ("% =) v (‘_,"'“’)
| DCREASINL ©OA (=5,1)

i
4+ CK) = <Y-2x j Se X=-2& PomST

-2
(Feorscave vbp Fon X 4=, RemK FoR X > p)

GRAPH (r0KS LIKE
Locat max AT (1,4%)




2) A rectangle has its base on the x axis and its upper two vertices on the the parabola y = 27 — 2*.
What is the largest area the rectangle can have?
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3) Determine the following limits or explain why they do not exist if f(z) = °7
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4) A boy at the top of a cliff 299 ft.high throws a rock straight down, and it hits the armmd 3.25 seconds
later, With what speed does the boy throw the rock? The gravitational constant is -32 ft /¢
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) Graph the following on a sealed set of axes, Label bl critical points and any asymptotes.

(Inflection points are not required.)
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